EARAROBEEIERT — 2 N— IBISH —F

2014578138 (B) 5SEIEH6H

XKW C3—3 C3 #5%—1 (w8 | mEmml - |5 0 oo s
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i g| V1 Xawryhy o8 Z‘gl_ﬂ‘?l)% 0:(4_9).6 3-3 3.2 — 3 447 Eg;{&éf:ﬁ%m
LALTHANAN BHIEaIOT W) %% Ex
= —: i 6 | HEERI 0:49. 1-1 36.6 | — 4 447 | BEEG L (EH)
2156 YISFAT 54.0 () (1) |FLET
L:R—>F2T BLT-TrHLX 4:bve)
o B8 | AKBEKE 0:49.8 2-2 3.6 — 2 460 | EEMEE (SAD)
3|7|10|7A—F—>avh 54.0 (3/4) Co |BUBE
L:T7v3I7—L BiANAY—LT1— EH S
2= 4 3 | ElllEGA 0:50.1 8-5 3.2 — 5 464 | AAREEE) (1)
4 2 T IR —X 55.0 (a 1/2) (+5) MARFIF
L:€r/0704 B:IF7bkv—L HET77—L
o ERFHR :50. = . — MHHELTH (FH)
51111 771 —1T— o4 R 0(510)3 3-4 36.9 12 <5+132) B
Ra A X T A= BiLALXAT NG — SV TIT— 1L
33 > 44 237 :50. - 5| — NHEE (FH)
N BESESPELEY, # 7 | B bt 8|35 e -
L:TTRZXTIA N BT RIN=T)L EA45
=S 4 6 | HREE—EA 0:50.3 5-7 36.6| — 6 40 | #MIIEE (B
78|12/ F—H=v T4 A51.0 (NF) (1) | LEMS
LT RIAY S w8y B:avs—TrrX KT 7— L
. KIEHFER : - — RAKX (BH)
8 S| PRAF -4 it 4 25 0(.15/02.)4 10-10 | 36.1 10 ?_513; N
R:7ROAFXLTEL B:NF/AYIHYR AiE R
= 4 o4 | BlIE 0:50.5 5-6 36.8| — 9 455 | BERE— (BH)
98|11 YTZ717LSX 6.0 (7€) o | B w-zr7
RivARNTY By —0T7—4 ZR77—L4
S, =t . s 4 | THRER 0:50.6 9-9 36.5| — 8 408 | AEMET L (EH)
10515 ~L>doAa—> ¥¢53.0 (3/4) (5 | BTEE
R:ZAY T M F—T 7 —K— K BARAFIEZFAL KAt 1E
Sy = LHIFE : - - BIFFET (FH)
1 Nl-Er v i 3 ) 0.(510>.8 12-11 | 36.3 7 (4&6) it
LHYIRT I B:O—Xh—=/\)L 772 Nis
S = A o4 | B 0:52.7 10-12 | 38.5| — 10 | 492 |REX (SH)
12 3| bU¥av hINL 56.0 © © (R J PN
R:Tdr—T4F4F—-XY> B:35/hb937 rooavEERRSH T avR
® I —F—EBIERL
13—7—
23—7F—
3a—+— |[6,10,(1,8),(11,12),9,2,5,(3,7) ,4
43—+ — 6,10,8,1,2,11,12,9,5,7,4,3
[ RN
B OB 8 420M 714K 6-8 520M e & 5-6 1,820 &R 6-8-10 870M
8 B 8 130M 8-10 320M B E 6-8 1,980 JEH 8-6-10 4,700
6 160/ 6-10 640M B H 8-6 1,510
10 130H4

ABICOVWTRDTEEERROODE. TR LIV,




